HR2AYYARXE Ra7o—+ DiITr O/R(BEHY) O/RKR(BERL) H=%£2% y=F4% ZR=KS%
BEEOMTEHBI= T

A4 HEH—F AEHE k152
RRAAYYV2015F E AR RRIAYVA VS, EEIAYYC 2015/06/07 11:45|  K¥i@RAEFHE

BmaAyJC ki3 . AMERdE

FTIE] ] TE% i 2 3 4 5 6 7 8 O T HEE R R YT = UL R R
1 () QUEX £ | EZE10 BIE1@ FEIK 1 2i2i1i0i0i0i0i1i3
2 (%) 195H# 2| Rl EZOF &3 3 2:0i2i0i0i0i0
3 (H#)533%) 8SARHA 25 =ik BR HRe 3 0:i0i0i1i0i0:0
4 (£E)—) 54 FH =ik =R 2 0ioioi2io0ionio
5 (&)%) IRE 32 Eitam —3 2 0i0i0i0i0i0io0
6 (=) STER i — R ==14% 2 0i0i0i0i0i0nio0
7 (D)EEND) 20K+ 247 ARk =ik 2 0{0i0i1i0i0i0
8 FE)dEEN 498K £ bz =ik 2 0i0i{0i1:0i0:0
9 (&) 28/IhE BE xR =5 2 2{0i0i0i0i0i0
10 (FE)—)(#8) 1878H —AI —d¢ foidid 2 oioioioionioio
" B3GR 6EHE M= Py Ek a% 1 1i0i0{0i1{0:i0
12 (—)38) 3THENT 1K R =R 2 0i0i0i1i0i0i0
fHl25i2i6{0i2i6i1i1i3

[E3 EiR BF4 IREK[E] BRkEK & WEE #HHR TE=ir |[5MEk|] 55K | 2% [h—7 k& [BEA]
@) EH 38RF  EFD 7 27 6 0 6 1 1 2 2

HRIAVYA




REIOAYYARE Xa7i—Fk

DiITR O/FR(BEHY) O/KR(BERL) H=%2% y=F4I% ZR=KS%
BEEOMTIHBI=0T

E RPN HiE j AapkdfE |
I P &2 i 2 3 4 5 6 7 8 9 HTHHS ST HRIT = iU BOEERE S 5%
1 (%) 15K+ R | mEKE1@ B3 R 2i1i0i0i0i0i1i0ifT
2 (%) 61JIIE K —3 E5%id PO BRI 1 2 0:i0{0i0i1{0if1
3 () 5k B [hED&E1e ECEE EZ@® pitam 4 3i2i2i0i1i0i0i{0i°T
4 (=) 68Hth B |hEDE1O i KO =i 2:2 1.0 1:1i0i1:f1
5 (%) 38RF A | mIkiE10 2 Pliczid 2i1i1i0i2i0i1i0iT
6 (3t) 8D FF | mBEE10 #®3 Po Bk 1i1i0i0i0i0i2i0i1
7 (#)7 9Ll #07 =ik PREEEEE] BBk e 2 oioioitioitio
8 (#8)(—) BEE FIE| ok =ik pik oy 3 1i0i0i1i0i0i0
9 (B)38) 1 BB B — 5 wa 3 0:i0:i0i0i0i0:0
10 (8)(H) 20iF8 FfE BRE1 E&RE1 b 23 3 2i0i0{0i0i0i2
11 (—)38) 512 E—Hp =R Bk 1 0i0i0it1i0i1:i0
12 3B8)(H|)#B) 8omH =3 —7 2 oioioioioioio
E(26i 7i7i0i4i4i5i3i8
[ EiR BF4 2Bk (O] B3R TE WEE #HHR BE=ir |5MEk|] 5%k | 2R [h—7 k& [BEA
) i 498K = 5 31 6 0 4 5 3 7 4
Q =T 88ARH £58 1 3 1 0 0 0 0
A
m
i
3
F—L4% 1 2 3 4 5 6 7 8 9 10 11 12 H
HEOAYYC 1 0 0 1 0 0 2
BEEOAYYA 5 2 0 0 X 7




